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source and a (10+j5)Ohm source impedance, find
the output power to a load resistance of 15 Ohms.

V=100V Zs:=(10+4j-5)-Q j =41
Zg =1118Q Ry =150

Find current and then power.
vS

I: = (3.846 — 0.7691) A

T Z Ry
1] =3.922A arg(l) = —=11.31 deg
2
P, = (|1])"Ry =230.769 W

Checking, find voltage at the load.

Ry,
Vi = Vg—— =(57.692 - 11.538i) V
ZS + RL
Vp| =58.835V arg(Vp)=-11.31deg
Or, checking,
V= IRy =(57.692 - 11.538) V
0 0
PIOt y VS y 0
Re '~ Im "~
Re(VL) Im(VL)
0 0




—25.294

0 VRe> VY RM 100




Max power transfer condition:
Ry = |Zg) = 11180

RLm |
Vim = Vg = (50 — 11.803i) V
ZS +Rim

‘VLMi =51.374V arg(vLM) = —13.283 deg

Plot
0 0
VS 0
VRM . Re(VLM) VIM "~ Im(VLM)
0 0
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Max Power Transfer Example. For a circuit with a

100V AC source and a (10+j5)Ohm source

impedance, find the output power as a function of
load resistance for a resistance only load.

Vy:=100-V Zs:=(10+]-5)-Q
Find current and then power.
\Y%
S
[(Ry )= ——
L .
( ) Zs+ Ry

P(Ry) = ([1(RL)]) ™Ry

=

Plot, first on a linear scale and then on a semilog

scale.
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